5.00% CH3OH 15.00% 02, 80. OO% N,, @ = O 50, p,y = 20 00 atm

P—
S
]
o

Ignition delay time (T) / us

100

6.54% CH3OH 19.63% 02, 73 82% N2, P =0. 50 Pay = 49 61 atm

1000

100

Ignition delay time (T) / us

Aramco Mech 1. 3
Aramco Mech 2.0 ——

8.50

9.00
10°K/T

9.50

10.00

Aramco Mech 1. 3
Aramco Mech 2.0 ——

8.50

9.00
10K/ T

9.50

10.00

10.50




Ignition delay time (T) / us

Ignition delay time (T) / us

8.00% CH3OH 12.00% 02, 80 00% N2, ® =1.00, p,, = 20.00 atm

Aramco Mech 1. 3
Aramco Mech 2.0 —— .

1000 [

100

820 840 860 880 900 920 940 9.60 9.80 10.00
10°K/T

12.28% CH;OH, 1843% 02, 69-29% Ny, ® = 1.00, p,,, = 30.88 atm

Aramco Mech 1. 3
Aramco Mech 2.0 ——
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o
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]

100

880 9.00 920 940 960 980 1000 1020 10.40
10K/ T



Ignition delay time (T) / us

Ignition delay time (T) / us

12.28% CH3OH 18.43% 02, 69.29% N2, ® =1.00, p,, =49.27 atm

[ Aramco Mech 1.3 - l s
- Aramco Mech 2.0 ——

100

8.50 9.00 9.50 10.00
10°K/ T

5.70% CH3OH 8. 55% 02, 35. 75% AR, D = 1 00, p,, = 10 18 atm

Aramco Mech 1.3 - I
Aramco Mech 2.0 —— ;

1000

100

8.00 8.50 9.00 9.50 10.00
10K/ T



Ignition delay time (T) / us

Ignition delay time (T) / us

5.70% CH3OH 8.55% 02, 85.75% AR P =1. 00 Py = 49.18 atm

1000 | Aramco Mech 1.3 - ’, i
Aramco Mech 2.0 —— . ]

100

8.00 8.50 9.00 9.50 10.00
10°K/T

3.10% CH;0H, 4.65% 02, 92.25% AR, @ = 1.00, p,,, = 10.12 atm

Aramco Mech 1. 3 e
Aramco Mech 2.0 —— ey

1000

100

7.00 7.50 8.00 8.50 9.00
10K/ T



21.88% CH;0H, 16.41% 02, 61.71% AR P =2.00, paV = 1.96 atm

Aramco Mech l 3 -
Aramco Mech 2.0 ——

.

—
o
o
o

Ignition delay time (T) / us

100

8.00 8.50 9.00

10*K/T

7.50

21.88% CH3OH 16. 41% 02, 61 71% N2, D =2. OO Pay = 5() 95 atm

Aramco Mech 1. 3
Aramco Mech 2.0 ——

p—
[
]
(e
]

100

Ignition delay time (T) / us

9.50 10.00 10.50 11.00

10°K/T

9.00

8.50



